16

300

| (8) =23,
(2)- O—
O | L
(13)- g e [ 9
SRR o) B =1
. = (2]
Af=a 10
I St
! | e 9 I
I | AHSRI
I8 (3)
| a 23l v ons—n]ruzaza]
. : 22l & RYTATH| 1
21/ Zn%y97 |EPT |1
: \\I& 20[ /2 FRPP | 1
Ty 10 19 A-x 8834 1[330mn
I N 18| prussisk [T027"] 1
I o | 17| 44> A1100TD| 1
: - | @ 16| Ta72-7 |EPT ||
||o127 15| #2848 [ar10070] 1
I | A| RERAAEE | SPCEN |1 | N2 %EN2 C17. 7
e //@ | 13 #x7-7  |fyizsu| 1
[ [l 12| #v-% HIzFo-a] 1
I | 11| R Fort POM |1
| NEEXL K
@D\ | 9lxvo7gm 2037700
| N ER sus304] 1
\ 7[vr= (%) [spcc [ 1 | rees
/@ 6[ut- (v1)[spcc |1 ]| eees
— | Eps 5] hwé- sus3o04| 1
= /@ & Al *vv7R9%v[NBR |1
3|Fvvd ADC12]| 1
2| hys-%k ADC12]| 1
) @/ st ) 1| 22kk SPCE |1 | RERE, ATFEEE
U I1v-JREES No| ®Ma4hK |[# E ] %
| J ﬁ\/’/ﬁ #10127004% B A 2011.02.01|“ER&I§|EL RIEE
I B % |#% (ABC) 3. Okg (N2 MER, #%) [Z3[8R
HRED B BHER BHER BEABREDE {38 2 i B ER $ F & XHER MERSZAER gt BAES|¥F23~1338 i
A-3, B-T, C|#13b (+20T)| 3~6m (+20T)] 1.10MPs | —20~+40%| 5. B8keg 3. Oko 17.7 g BER % % | AHA—10ND |°“““"‘“"“"""""i B




